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o) Eivar A, =gpl35° =), =-106mote e:y—3=—1-(x-2)=>y-3=—x+2=y=—X+5
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B) Eivon A, =E=2:>7»S =2 omote givar g1y —5=2-(x+1)=>y—-5=2x+2=y=2x+7

—1-0 _ 1er
v) Etvou Ay = ——:>7» =1 omote elvan €: y—-3=x-2=y=x+1
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Etvar A, =epd45 <A, =1 omdte e:y—-2= l(x 6)<:>y x—4

ells
Eivan k5=g=2:>7»8=2 omoTE s:y+3=2(x—l)<:>y=2x—5
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Eivan X-=1=1:>7» =-1 ondte szy—4=—(x+1)<:>y:—x+3

Eivar A, =epl35=A, =-1 omdte e:y+l=— (x+2)
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Etvan Ay = ——2:>7» =2 omote €:y-3= 2(x 2)<:>y 2x-1
—(-5) _1

Etvar Ay = X =-3 omote &:y—-8=-3(x-5)ey=-3x+23
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